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QUESTION 1

Given the following data set DEMOG: 

Which selection below would be considered hard-coding? 

A. if sexcd eq 1 then sex = "Male" ; else if sexcd eq 2 then sex = "Female" ; 

B. if site eq 1 then sexcd = 2 ; else if site eq 2 then sexcd = 1 ; 

C. if site eq 1 and sexcd ne 2 then check = 1 ; else if site eq 2 and sexcd ne 1 then check = 2 ; 

D. birthdt = input(dob, mmddyy10.) ; 

Correct Answer: B 

 

QUESTION 2

Given the following data set: 

Which type of clinical trials data is this? 

A. Demographics 

B. Laboratory 

C. Medical History 

D. Vital Signs 

Correct Answer: D 
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QUESTION 3

This question will ask you to provide lines of missing code. 

Which ODS statements, inserted respectively in the two locations indicated above, create a report stored in a PDF file? 

A. ods pdf open=\\'AE.pdf\\'; ods pdf close; 

B. ods file open=\\'AE.pdf\\' type=pdf; ods file close; 

C. ods pdf file=\\'AE.pdf\\'; ods pdf close; 

D. ods file pdf=\\'AE.pdf\\'; ods file close; 

Correct Answer: C 

 

QUESTION 4

A patient received at least one dose of study medication prior to withdrawing from a study. Which analysis population
would always include this patient? 

A. efficacy 

B. intent to treat 

C. per protocol 

D. safety 

Correct Answer: D 

 

QUESTION 5

Identify the data structure with the following characteristics: 

?Contains one or more records per subject, per analysis parameter, and per analysis timepoint. 

?May be derived from findings, events, interventions and special-purpose SDTM domains, or other ADaM datasets. 

?A record can represent an observed, derived, or imputed value required for analysis. 

A. General Data Structure (GDS) 

B. Basic Data Structure (BDS) 

C. Subject Level Analysis Data Set (ADSL) 
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D. Event Level Analysis Data Set (ADAE) 

Correct Answer: B 
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